Anbauhinweise fiir Crash- Pads Suzuki GSX-R 600/750 '04-05 Art.Nr.: 550S097.1

Wichtig: Wenn Sie kein ausgebildeter Mechaniker sind, wenden Sie sich bitte an eine Fachwerkstatt.
Bitte unbedingt vor dem Anbau beachten!

Die Montage der Crash-Pads muss seitenweise erfolgen!

Das gleichzeitige Losen der beiden Motorhalteschrauben ist zu vermeiden!

Verkleidungsseitenteile brauchen nicht ausgespart oder gebohrt werden!

Anbau der rechten Seite

Rahmen/ vordere Motorbefestigung
Klemmschraube
Motorhaltehllse

Anzugsdrehmoment:
Crosh-Pad Adapterplatte SSNm
M10x1.25%6S ,,
_ 7/
&=
- M10x1.25x30
+ ....... _|._._\;\_._._.}
L/
Anzugsdrehmoment:
35Nm

Suzukli GSX-R 600/750 ab 2004

Anbau der linken Seite

Rahmen/ vordere Motorbefestigung
Distanzbuchse T=18,0mm
Anzugsdrehmonent: Crash-Pad Adapterplatte

SS5Nm \M10x1.25x70
==
1, M10x1.25x30
IR

Anzugsdrehmoment:
35Nm

LSL

MAKING GOOD BIKES PERFECT

Paaschburg & Wunderlich GmbH - D-21509
www.Isl.eu



Fitting Instructions Crash-Pads Suzuki GSX-R 600/750 04 - '05 _ Part-No.: 550S097.1
Important! If you are not a trained motorcycle mechanic stop now. Ask a local motorcycle shop to do the

work for you.

Please take extra care!
The mounting of the crash-pads has to be done side by side! At all times you have to prevent that the engine

mounting bolts are not loose at the same moment!
The fairing has not to be cut or drilled!

Fitting on the right side

frame / mounting point at the front side of the engine
bolt that clamps the motor mounting spacer
motor mounting spacer fitting torque:
odapter plate S3Nm
M10x1.25x65 ,

M10x1.25x30, \
A
fitting torque:
35Nm

Suzuki GSX-R 600/750 ab 2004

Fitting on the left side

frame / mounting point at the front side of the engine
distance sleeve oaluminium t=18,0mm

fitting torque: adopter plate

S5Nm \M10x1.25x70
\ Y

M10x1.25x30 l

E_._/}L'___{_ _______ 1.

N

fitting torque:
35Nm

|

Suzuki GSX-R 600/750 ab 2004

MAKING GOOD BIKES PERFECT

Paaschburg & Wunderlich GmbH - D-21509
www.lsl.eu



Instructions de montage des Crash Pads pour Suzuki GSX-R 600/750 '04 - '05
N° article : 550S097.1

Important: Le montage doit étre fait par un professionnel.
Le montage des Crash Pads s’effectue d’abord d’un c6té et ensuite de
l'autre ! Evitez le desserrage simultané des deux vis tenant le moteur!
Le carénage reste inchangé !

Montage co6té droit:

Cadre/fixation moteur antérieure
Vis de serrage

Entretoise de fixation moteur Couple de serrage:
Plaque d’adaptation SONm
M10x1.25x65 /

T/

.
I

___|T|
|

M10x1.25x30

]
T
||
|
< N 7

A

- Couple de Selr‘r‘ag@
| 35Nm

iz,

Montage c6té gauche:

Cadre/fixotion moteur antérieure
Entretoise T=18,0mm

Couple de serrage: Plaque d‘adaptation

S5Nm \~ \ M10x1.25x70
\\\ .

—

M10x1.25x30 |
1 L
/ % |

Couple de serrage: -
35Nm \\\\\~I

MAKING GOOD BIKES PERFECT

Paaschburg & Wunderlich GmbH - D-21509
www.Isl.eu

10/2006



LSL.

MAKING GOOD BIKES PERFECT

Paaschburg & Wunderlich GmbH - D-21509
www.lsl.eu





